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Best Way to parameterize is this way :
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= (x(z-x) - x(x))dx

= S'(2x - xi- x 1dx

= ()- 2x+ 2x)dx

= (- x + xY) !!
= ( - >(1) + (12) - ( - =(0)+ (01

=- 3 + 1 =⑮



You could do ③ above another

Way but you'd need two integrals.

X = Y
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It would be

Sjxdxdy + Sxdxdy
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The can try it if you want to

.
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Where do these surfaces intersect ?

They intersect when :

x + y = 2- xy
2x + 2y2 = 2

&
xi+ y = 1

Zettfirst surface

This happens when z= 1 z = x+ y2

So we get the following
picture :
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